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1.  The Actual Question Paper Contains 50 Questions.

2. Each question carry an equal marks of 2 against 50 question
3. The Duration of the Test Paper is 60 Minutes

For Q No 1-2: Choose the option that best expresses the
meaning of the given idioms and phrases.

Hobson's choice

(A) Feeling of insecurity

(B)  Accept or leave the offer

(C) Feeling of strength

(D) Excellent choice

(E) None of these

ALL Agog
(A) Everybody (B) Allready
(C) restless (D) Almighty

(E) None of these

For Q No 3-4: In each of these questions, a sentence has been
given in four parts. One of these parts contains a grammatical
error. Find the part.

The need to set up(I)/a good library in the locality
(II)/ has been in the minds of people (III)/ for some
time now (IV).

(A) 1 (B) 1

() 1 D IV

(E) None of these

Had I come (I)/ to know about (II)/ his difficulties
(I11)/ I would have certainly helped.(IV)

a) I (B) I
() I (D) IV
(E) None of these

For Q No 5: In this question, the first and last parts of the

sentence are 1 and 6. The rest of the sentence is split into

four parts and marked R, Q, R and S. Arrange these parts in

order to make a meaningful paragraph:

S1: The domestic cat is a contradiction in itself.

P: But the adult pet dog also sees its human family
as the dominant members of the pack.

Q: Nursed in kitten hood it develops extraordinary
intimacy with mankind.

R: The dog, like the pet cat, sees its owners as
pseudo-parents.

S: At the same time, however the cat continues to

retain its independence.

For Q No 6-7: Give the synonym of the words given in capital

letters.

EUPHORIA

(A) Despair (B) Despondency
(C) Rapture (D) Dejection

(E) None of these
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7. INNOCUOUS
(A) Odious (B)
(C) Offensive (D)
(E) None of these

Harmless
Effective

For Q No 8: Choose the option that correctly depicts the
relationship between the two statements given below.
8. Statements:
. The police authority has recently caught a group of
house breakers.
Il. The citizens group in the locality has started night
vigil in the area.
(A) StatementIis the cause and statement II is its effect
(B) Statement IIis the cause and statement [ is its effect
(C) Both the statements I and II are effects of some
common cause
(D)  Both the statements I and II are effect of independent
causes
(E) None of these

9. Choose the correct form of the tense for sentence
given below.

If she had come on time, she would have got the ticket for the
show.

(A) Past perfect continuous tense

(B) Pastindefinite tense

(C) Past perfect tense

(D) Past continuous tense

(E) None of these

10. Fill in the blanks with the correct modal.

He succeeded because he hard.
(A) Works (B) Worked
(C) Hasworked (D) All of these

(E) None of these

For Q No 11-12: Rearrange P, Q,R, and S in the proper
sequence so as to form a meaningful paragraph and then
answer the questions that follow.

P:  As he got up, a frightened villager told him about the
man-eater. Tom took out his gun and decided to
chase it

Q:  When he approached the thick bush, he saw the lion
running towards him.

R: Tom was awakened by the fearful screams of the

villagers.
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S: In a stage of fright, a shot was fired accidentally by
tom, but it hit the lion.
11. Which sentence should come SECOND in the

sequence?
(A)P (B)Q
©OR (D) S
(E) None of these

12. Which sentence should come THIRD?

AP B)Q
©OR (D) s
(E) None of these

13. Which one of the following has been correctly spelt?

(A) Budgetry (B) Budgatary
(C) Budgetery (D) Budgetary
(E) None of these

14. Judge the right word.
The earth is at present in great danger of becoming

uninhabitable because of environmental pollution which

is going on at an incredibly rapid pace.
(A) Splendid (B) Gigantic
(C) Colossal (D) Inhuman
(E) None of these

15. Choose the miss-spelt word out of the given
alternatives.

(A) Seige (B) Solemn
(C) Syllable (D) Seize
(E) None of these

16. Two sentences with homonyms (underlined) are
given below. Read both the sentences carefully and
pick the sentence with correct use of homonym.

I The ordnance depot is situated depot is situated for
away from this city.

Il An ordinance declaring president’s rule in the state has
been issued today.

(A) Onlylis correct (B)

(C) BothI&IIis correct (D)

(E) None of these

Only II is correct

Both I &Il is incorrect




